











Discuss the different approaches to human development.

25. List out the major problems faced by the farmers in India and describe about any three
of them.
26 Observe the map given below and give a brief description about the transcontinental
railway line mentioned,
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SECTION -E
Question Nos, 27 and 28, Answer any 1. Each question carries 6 scores. (1=x6=6)

There are different types of agricultural practices in the world. Prepare a note on any

three of them.

Explain the factors determing the location of an Industry.
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